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5% HFLR EM | Biis AR (FTEG] ik LEa
BEHN 6 = okg & kg | 1,000 FE
YN 12 =i 5kg e kg 900 EE
BEHYN 8E (=i 5kg 5B kg 850 EE
YN 108 =1l 5kg e kg 800 EE
mInA 162 dbiEE 2kg & kg | 2,950 27HXKBIF H£BOK
mnA 18/19E | dtisE 2kg Ei] ke | 2,400 27HKEBIF H£BOK
mnA 2012 dbiEdE 2kg & kg | 2,200 27HXKBIF H£BOK
mNA 352 dtiEE 4kg i kg | 2,400 278XKiBITF £BOK
mNA 38E dtiEE 4kg i kg | 2,200 278KiBITF £BOK
7o 20/212 RIE 5kg 5B kg | 1,150
Y 8kg ;B 1A e kg | 1,300 EE
Y Tkg ;B 1A e kg | 1,150 EE
71 5/6kg ME 1A 5B kg | 1,100 TBE
754 3B EiEE | 10/12keg i kg 900 EiE
145 4B BF 6.5kg & #8 | 4,500 EiE
27 5/10g alll 2kg #a #5 | 1,800 EiE
=B 4B = AN 4/5kg 5B kg | 3,100 # BEH
=B 6 = %0 4/5kg 5B kg | 2,800 # BEH
VAP 3/4kg = 1A 8 kg | 2,600 T& Ef
VAP 2B =i S5kg A kg | 2,200 EE EF
hoA 4kg LA 1A i kg | 1,250 A 289
5 2/3kg LR LRES 1A i kg | 1,500
B 2kg & R 1A & kg | 2,150 EE
D= 1.5kgUP =57 1A ) kg | 4,000 EBE JEX
EEBYINE TIE 500g & P | 2,200
M7 102 e P P | 1,500
EETL 102 BHE 1kg P P | 3500




